X2/ ndf 50.81/5
: : Constant  1.481e+04 + 8.707e+01
10* |— p KinFit MC
Mean 0.04523 £ 0.00091
Sigma 0.1819 + 0.0009
10° | — P KinFit Data
10° =
10 &
157
107" =
:I 1 1 | 1 11 | 1 | 11 1 1 |
-20 -15 -10 5 10 15 20
BCAL AT (ns)
X2 / ndf 138.6/5
: : Constant  1.455e+04 + 6.961e+01
10* | — p KinFit MC
Mean 0.005395 + 0.000730
Sigma 0.1811 + 0.0007
5 . .
10° | — p KinFit Data
10° =
10
1e-
10" =
:I 11 1 | 11 1 1 | 11 1 1 | | 1 1 | 1 1 | | 11 1 1 | 11 1 1 | 11 1 1
-20 -15 -10 5 0 5 10 15 20

BCAL A T (ns)
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